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7e” as an Arithmetic Number

TOHDOH Saion

7 and "e”, base of natural logarithm, are two fundamental number for science and mathematics.
is known as ratio of diameter and length of circle which is seen very easily.On the other hand, "e”
is not so visible. We need many steps to understand it.It is seen that all of the students use "e” as a
number in formulae of calculus never-the-less few of them can show the meaning of the number. We
tried to introduce "e” in elementary ways.Calculus after “e”, not *e” after calculus.This is a case.
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